lightbulbs

Day2 Tasks
Georgian (GEO)

C. bomyhagon

0dmEobal bobgema  Bomy®gdo
coMmob gnododo 4 Bodo
dgbbogtgdob emodogyo 1 39

1891 Bgemlb bomytgool 3md3obool ookbgdl d9dg3 RGggMng dogmndbds oo dmdmhgbo
30039m0. dedmohnby  bomytgon, Omdmgong  9bdmgogh  PbabMYmmE  dmMdmbhogmydo b
396 (039 yM0 dodotmmyemgdom. 83 obsgmo dpdmhgbom, dob ybws, MM gobognmobmlb mobsdgphmay
bobgmgdal nbhgbnmedol cndsnbo.

b 6307369000 ©3Y96998L dab dz0em 39G6OEMSD ghmow 930690, abnba 394969396 N2 3oem Bomn®ab
N x N 33630000 momobdo.

9em9gdhemgbgczgnal abmazol dodbom dom Ubyho dmgmo mmasbo gosbdmmb Gog dgodemgds M
0omgbmool  bdmyMom.  mommggem  bomy®ol  od3l mGo  doddbmymgdowsb  ghm-ghmo:
3mM0dmbhagmymo - Mo bodbogl, ™3 ob 8bdmMgol yzgems Y2eob dob bybodmbdo, ob 390dHn3demyto -
63 bodbogl, GmAd ol 9bdmMgoL yzgems sl dob bgghdo.

9398m0m dmEgdyemo 0gngbhmoEns dbobogl 396bhoiowyd (dobEbbog) s dmmodmbhomyd (doth3b03)
boamycob.

bodBgbobrm, dom o dbbmgm GMAgmo bomydo vbdMgol dMMNdMbHemYGe s Gmdgmmo
396 0H030emyMoc. d3dob boggmo, obobo dhHe®9dgb 9dudgcndgbhgdl, Mmd osaNbmb Gmdgmo
bomy®gdn b godmnyggbmb dmgmosbn mmobal gobobsmgoma. 3ghotmn bomyMgdnsb mmaobdo
Mhgdo, bLbed ByMyEgG30 9d bamydgdalb hadtrmzgemgonsb mmsbdn gogab.
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000m9ye 99b3960dgbdhdn, B3GgEgM030 hatmogh ob gadmmmagh MMMy bamyMl s gghekoon
0d0mMAL, 07 Godgbo 26 3oboms 20ddn. Y6, Mmdgmog MmMo b dgho bamyGomos gobsmgdnma od
200do dbmmmme ghmbgen 0mzmgds. 3bnd3zbgmmos o6 0g3b mommgnem 99b3gMndgbhdo Godwgb
bomY&l hotrmozggb, dogcod dodo-dzomb ghdegdd o Ybsm MoE dgodemgds gmdd 99b39600d9b6¢h0b
hogotgdo.

039bdoMgm dom 03m3mb g3abgmoggds, MmAdgmag 0bomgdl dmgem mmabl o 0ygbgdl Moy dgndgmgde
Bmdo bomy®ol. dom dgydmmoom hospotmb dogdundyd 2000 g9dudgeodgbhn, dog®od dgdho Jngmoal
doboggogmoE bagntmos bogemgdn gdbdghadgbhol hodobtgde.

0bhgtodind

9L 360b 0bdhgedghoymmo sdmEabo.

* 93960 3OMaMdds b onbymb ghman bhtngmbal Bozombznm, Gmdgmag dgoEgesh dmgem N
6oEbaL - dohGoEab bogMdgl o Logobgl.

* 0900093 0939600 36rMasddd 1bgod 0Mm0ghmmb 3ErvgMmob. gdudgéadgbinl hobobatgoma,
9396 296 3bo odgdomm bodo jombzolb bodboo “2”. dgdwga N Momegbmdol boddg
30dmohobgo N x N dohGogs, Mmdgemog a30h39690L Gmdgemo bamyhgdos sbmgdnmo. jo3tom
300636090900, d9d930 N GomMm©gbmdnl badnab mommgyemdo gadmodsbgm bhtnbao Bmdom
N, Gmdgmog 3903900 0-500b (3odmbmyemo bamymgdn) s 1-900b80b (habmyma bomyMgoan).
8990938 ™J3963s 3OM3Md3d by Bsngznmbmb gémo dmgma £ (0 < £ < N?) 6ogbgo - h3ggbb
dogt dobmegdyemo hobmyemo bamycgdnl dogt 3abomgdyemo Hxtgdol Momegbmos.

e 3obybol goEgdabob gadmotobgm LhMagdmba dobogmal bodbom “!” o dgdga N Gom©gbmdnl
babo, dmdemgdomsi dmoggds dohéozd dgdmom smbghogm ymMmdaddo. ndobom3zal, Gmd mg3gbo
dobgbo LBmGMOE Honmzammb, bdmyMgdds Pbd osbommb dmgemn dod®ogs o dbmgdyema
boamyhgdab Momogbmds Jbs agmb Moy dgodemgds 3mdo.

0dob dgdega, 93960 30rmakds Pbrs admazgl.

3M9M0 d3Hh0 Mo 30 kb, Moy b0dboglb, Gmd bomykgdal dogpmogs o domo dodobmyegdgdo
0309009000 0bdhghoginnl sabygodsdoy.

Make sure to flush standard output after issuing each experiment; otherwise, your program might
get judged as “Time Limit Exceeded”. In Python, this happens automatically as long as you use
input () to read lines. In C++, cout << endl; flushes in addition to printing a newline; if using

printf, use £f1ush (stdout).

49801003900 d d93oLg0s

e 3 <N <100.

e 9396 dggndmoom  hoshabmm  doduodyd 2000 gdudgbodgbho  (3obybob  @odmdobo
9903960d9b6(ho© 3O 0m3g0d). 07 ddL FoEAVFMdgOm, ™330 Toogmgdm dgx3dLgdsl “Wrong
Answer”.
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93960 0dmblbbs dgdmbdgogds Habhgdol 23YRmd Ba3Mgddy, OMIAIWM™MEZEd MomMgYmBdy Jymams
30033999 GoMmEgbmdsl doomgom. hgbhgool ygmzgemo 231930 dgoEagb gobbodmatnmo Momogbmdal
09bHIOL O MEMMgY 23990389 Juemgdol dobomgde 83 gdgEmas 8dmblbom od (Hgbdol 233y93do
9303000 4390 Bobo.

33930 Jasmo dgBomyr3g00

1 11 N =3

2 11 N <10

3 0607dghal 78  ddohgdnmon dgdmy3900L gokgdy

dmmm  BHgbhob  2@n03dn, ®g3960 guemo  admgogdyemod  hohemgdymo  gdudghHndgbigdal
M0mEgbmbady o nm3emgos dgdwgan B3mMTYEm:

(2000 — Q) -29/900  if 200 < @ < 2000,
score = ¢ 58 4+ (200 — Q) - 4/23 if 85 < @ < 200,
78 it Q < 85,

boog @ obob (Mo dogbndogmydo Momgbmonlb gdudghndgbhng hospotgm  GHgbhgoda. Jngmo
©336330¢0(g0d Jobenmgl Jagws dmgw Mogbzadog.

9390mm  dmEgdyemo  3Goo3n  dLobagb Jymgdal MOMEgbmdsl (bmambi Q-89 odmngdymm
031693000), mdgemboi mg3960 3mameds s0ggol, 0y 9dmbbbal ¢hgbdhgdalb yzgems :33930b.

o0 odm@Eobodn 100 Jyemol dobomgdo 9390 1bo 8dmblbom mommgyemo Bgbho dogbodyd 85
99b3960d9bchdo.

100 }—a (85, 100)

50 4
(2000, 22)

0 500 1000 1500 2000

Hgbhotgonl bodyommgdd

93960 9dmbLbol  gohabh3ol oLobdotgdmoE, Mo300mdm dabdog  bodnogmgdsl, Gmdwal
3d0dmbghoy dgandmosm. nbogmgm “attachments” Kattis-dg 33960b dmenmdo. od dHgbhobgdol
bOTPOEgoal @odmygbgds dE3NENgdga dMVY. YyMoeMgds doodyngm Gmd Kattis-0g godmygbgdnemo
Ma303000mYM0 3Mdghn 3Ormakeds habdhnmgool badyemmgdobasb gebbbzogwgoo.
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00 (hbHncgool Lodydgmgdl 3odmboygbgdemag, dgddgbom dghobal a3ongma, dogoomap “samplet.in”,
mdgemoE Y6 enbymb dmgemo Gogbgno N. dob dmyzgds N Mdmgbmonl bodo, Gmdgmog smbgl
3000, Losg v 60dbogl, md bamycs 3bamgdl dob L3gHL (39O H0ZeTIGNS) o H 60dbagl, rmd
63mYEO 363mgdL dob bhGgmb (dmMdMbHOTYMN). FogdTmSc:

VVHVH
HVHHV
VHHVV
HHHVH
HHVVV

3000mbob 30 macmodgonbmaal, dogomnmo, solution.py (A399emgoMnzdE 31d3900m b3M3HOL PypPy3
solution.py 30339000):

python3 testing tool.py pypy3 solution.py < samplel.in

C++ 36mamodgdobmgal, 96  osgmddomobgm (hgdobsgndn Lgbodhob g++ -g -02 -
std=gnu++20 -static solution.cpp -o solution.out god39000) o dgdga aoyd300m:

python3 testing tool.py ./solution.out < samplel.in

dogom0mn

30039em 0bhgcogdgnadn 36macods obggod dodhemogol Bmdol Bogombgzom N = 5. dgdwggn babodo
303mbobogL addgmyem dohdoEob (mdgmog 30mamedsad 30 0zob) s ghm-ghom LBmE 8dmblbsb,
mdgemog 0ggbgdb 5 bomyMsl dmgemo dohGozol gobobsmgomam. oa3gkoEgdywo bamytgdo
hobroemos s dgotgdom dndo xtrgdo gobomgdyemoe.

et) § (oo § e f (e |
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36mahodd d0(hotgob ™6 939300 odmbobyem gqdudgedgbpl. dobzgem g9dbdgéndgbihdo, 20ddo 10
Bomycos sbmgdymo mMa 396mHh0lommydn bomydmab godmygbgdnm By dobibgbs Zymbgdn. dgmbag
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99039603960 dbdmMgAL 20dd0 13 PE6L. LOdMEMME, 3OMEMAdL 3ddmadglb dobo dsbybo (dgdmm

bohggbgon).
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